
MAT226 Solution to HWII

I a) " I;÷÷÷÷. .IE?F=i-xcnimenewel
^

fmdxtwdy-f.fr?F-ffdA
r L 8

gltttwst , sint) = f.[fo
't

@sino - arioso) rdrdo
team'T

efgjtyaqeoydo.fr'd) -07
To ¥

↳

4

b) F' Kiya) often
,
2x sinz, xtztts) not conservative

814=441 , too) , felon]
( from HWIO)

y
' IH - (It , I , o)

f
,

F' dy - f:( (0,2ft sing , 1-41-141241,0)> dt=§odt=⇒
c) E'kid = (Easy .

- ex sing)

from Mwss : E is conservative and has potential

flute
"

cosy to for any cook



Htt - fu + tattoos (t'- 4th but) .tt) , te G. 53

Jg Fdr flyCst) - fHBD = f( O, sit) - f (O , 3T)

= e
°

cos 51T - e
°

as 3T = - I - f - 1) =④


